## Pravara Medical Trust's Ayurved College & Shri Eknath Ayurved Rugnalaya, Shevgaon

## BAMS Students Attendance Report Month of April 2022 (UG).

			Month of April 2022				
Sr.No	Name of The Student	Year	Working Days	Present Days	Absent Days	Percentage	
1	Bade Aishwarya Ambadas	1st Year	**	**	**	Exam Appearing Batch	
2	Bagad Soham Dnyaneshwar	1st Year	**	**	**	Exam Appearing Batch	
3	Bhandarge Abhiraj Ashok	1st Year	**	**	**	Exam Appearing Batch	
4	Bhorkade Ajinath Subhash	1st Year	**	**	**	Exam Appearing Batch	
5	Bodke Pranjal Rajendra	1st Year	**	**	**	Exam Appearing Batch	
6	Chalak Dnyaneshwar Ashok	1st Year	**	**	**	Exam Appearing Batch	
7	Changhate Lalita Raju	1st Year	**	**	**	Exam Appearing Batch	
8	Chaudhari Jagruti Kishor	1st Year	**	**	**	Exam Appearing Batch	
9	Chaure Dipti Ashok	1st Year	**	**	**	Exam Appearing Batch	
10	Chavan Namrata Raju	1st Year	**	**	**	Exam Appearing Batch	
11	Choure Ankita Bharat	1st Year	**	**	**	Exam Appearing Batch	
12	Dahifale Vaishanavi Satish	1st Year	**	**	**	Exam Appearing Batch	
13	Dawande Aditya Jaydev	1st Year	**	**	**	Exam Appearing Batch	
14	Deshmukh Abhishek Ganesh	1st Year	**	**	**	Exam Appearing Batch	
15	Dethe Neha Ravindra	1st Year	**	**	**	Exam Appearing Batch	
16	Dhakne Rushikesh Sandipan	1st Year	**	**	**	Exam Appearing Batch	
17	Dhaygude Sachidanand Rajesaheb	1st Year	**	**	**	Exam Appearing Batch	
18	Dhondge Akanksha Vinayak	1st Year	**	**	**	Exam Appearing Batch	
19	Dodmise Pragati Thaksen	1st Year	**	**	**	Exam Appearing Batch	
20	Doiphode Vaibhav Uttam	1st Year	**	**	**	Exam Appearing Batch	
21	Duratkar Onkar Balasaheb	1st Year	**	**	**	Exam Appearing Batch	
22	Gade Abhishek Balasaheb	1st Year	**	**	**	Exam Appearing Batch	
23	Gade Priti Kishan	1st Year	**	**	**	Exam Appearing Batch	
24	Gadekar Sakshi Subhash	1st Year	**	**	**	Exam Appearing Batch	
25	Gaike Komal Gokul	1st Year	**	**	**	Exam Appearing Batch	
26	Gaikwad Divya Navnath	1st Year	**	**	**	Exam Appearing Batch	
27	Gavali Yuvraj Santosh	1st Year	**	**	**	Exam Appearing Batch	
28	Ghuge Vaibhav Santosh	1st Year	**	**	**	Exam Appearing Batch	

29	Ingle Sonal Jivan	1st Year	**	**	**	Exam Appearing Batch
30	Jadhav Chanchal Uddhav	1st Year	**	**	**	Exam Appearing Batch
31	Jadhav Vishal Dattu	1st Year	**	**	**	Exam Appearing Batch
32	Jagdale Geeta Dharmraj	1st Year	**	**	**	Exam Appearing Batch
33	Jujgar Mansi Adeshrao	1st Year	**	**	**	Exam Appearing Batch
34	Jumbad Mayur Pundalikrao	1st Year	**	**	**	Exam Appearing Batch
35	Kadam Ritesh Anurudra	1st Year	**	**	**	Exam Appearing Batch
36	Kadwade Sumati Sangmeshwar	1st Year	**	**	**	Exam Appearing Batch
37	Kakade Akanksha Babasaheb	1st Year	**	**	**	Exam Appearing Batch
38	Kapade Kalyani Bhanudas	1st Year	**	**	**	Exam Appearing Batch
39	Kharat Gitanjali Namdev	1st Year	**	**	**	Exam Appearing Batch
40	Khedkar Akshay Vilas	1st Year	**	**	**	Exam Appearing Batch
41	Kolhe Arpita Tukaram	1st Year	**	**	**	Exam Appearing Batch
42	Kolhe Komal Annarao	1st Year	**	**	**	Exam Appearing Batch
43	Kothare Pratiksha Mahadeo	1st Year	**	**	**	Exam Appearing Batch
44	Kshirsagar Dnyaneshwar Ramanand	1st Year	**	**	**	Exam Appearing Batch
45	Lad Sanskruti Rajendra	1st Year	**	**	**	Exam Appearing Batch
46	Mache Vaishnavi Vijaykumar	1st Year	**	**	**	Exam Appearing Batch
47	Madake Gitanjali Appasaheb	1st Year	**	**	**	Exam Appearing Batch
48	Mahale Samira Raghunath	1st Year	**	**	**	Exam Appearing Batch
49	Marathe Pallavi Ratnakar	1st Year	**	**	**	Exam Appearing Batch
50	Mehetre Rutuja Satish	1st Year	**	**	**	Exam Appearing Batch
51	Mhaisne Pranav Haridas	1st Year	**	**	**	Exam Appearing Batch
52	Mhetre Supriya Ganpati	1st Year	**	**	**	Exam Appearing Batch
53	Misal Aarti Ramkrushna	1st Year	**	**	**	Exam Appearing Batch
54	More Kalyani Kailas	1st Year	**	**	**	Exam Appearing Batch
55	Mote Shubhangi Ravsaheb	1st Year	**	**	**	Exam Appearing Batch
56	Munde Pranita Umakant	1st Year	**	**	**	Exam Appearing Batch
57	Narsale Smruti Revaji	1st Year	**	**	**	Exam Appearing Batch
58	Netake Amruta Kisan	1st Year	**	**	**	Exam Appearing Batch
59	Padval Abhijit Rajshekhar	1st Year	**	**	**	Exam Appearing Batch
60	Palkar Aakanksha Jitendra	1st Year	**	**	**	Exam Appearing Batch
61	Pandhare Harish Bharat	1st Year	**	**	**	Exam Appearing Batch

62	Panhalkar Prajkta Rameshwar	1st Year	**	**	**	Exam Appearing Batch
63	Pankhade Shruti Sanjay	1st Year	**	**	**	Exam Appearing Batch
64	Pardeshi Sarthak Dattatraya	1st Year	**	**	**	Exam Appearing Batch
65	Pardhi Darshana Navanath	1st Year	**	**	**	Exam Appearing Batch
66	Patil Darshana Nitin	1st Year	**	**	**	Exam Appearing Batch
67	Patil Jayesh Ramakant	1st Year	**	**	**	Exam Appearing Batch
68	Patil Sujit Rajendra	1st Year	**	**	**	Exam Appearing Batch
69	Pawar Jyoti Jivan	1st Year	**	**	**	Exam Appearing Batch
70	Pawar Kishor Pandit	1st Year	**	**	**	Exam Appearing Batch
71	Pawar Prathamesh Rajendra	1st Year	**	**	**	Exam Appearing Batch
72	Phand Jyoti Vilas	1st Year	**	**	**	Exam Appearing Batch
73	Rahate Mayur Vilas	1st Year	**	**	**	Exam Appearing Batch
74	Ranmale Shubham Arvind	1st Year	**	**	**	Exam Appearing Batch
75	Rasal Shruti Umesh	1st Year	**	**	**	Exam Appearing Batch
76	Rasal Supriya Ashok	1st Year	**	**	**	Exam Appearing Batch
77	Sapkal Vaishnavi Datta	1st Year	**	**	**	Exam Appearing Batch
78	Shaikh Misba Abdulrahim	1st Year	**	**	**	Exam Appearing Batch
79	Shedge Saurabh Suresh	1st Year	**	**	**	Exam Appearing Batch
80	Shejul Gaurav Ramkisan	1st Year	**	**	**	Exam Appearing Batch
81	Shinde Pankaj Marotrao	1st Year	**	**	**	Exam Appearing Batch
82	Shinde Sarang Ramrao	1st Year	**	**	**	Exam Appearing Batch
83	Shrimangale Dnyaneshwari Ramesh	1st Year	**	**	**	Exam Appearing Batch
84	Sirsat Akash Gajanan	1st Year	**	**	**	Exam Appearing Batch
85	Solanke Suraj Ashok	1st Year	**	**	**	Exam Appearing Batch
86	Sonawane Prachi Ramkisan	1st Year	**	**	**	Exam Appearing Batch
87	Suradkar Shubham Rajendra	1st Year	**	**	**	Exam Appearing Batch
88	Swami Siddhant Ravishankar	1st Year	**	**	**	Exam Appearing Batch
89	Tamboli Muskan Javed	1st Year	**	**	**	Exam Appearing Batch
90	Tormal Ravikumar Madhavrao	1st Year	**	**	**	Exam Appearing Batch
91	Valvi Anosh Gulab	1st Year	**	**	**	Exam Appearing Batch
92	Vighne Amruta Nanasaheb	1st Year	**	**	**	Exam Appearing Batch
93	Wagh Pooja Popat	1st Year	**	**	**	Exam Appearing Batch
94	Wagh Suyasha Ishwar	1st Year	**	**	**	Exam Appearing Batch

95	Waghmare Apeksha Anil	1st Year	**	**	**	Exam Appearing Batch
96	Walekar Vaibhav Arun	1st Year	**	**	**	Exam Appearing Batch
97	Walhekar Hindavi Arun	1st Year	**	**	**	Exam Appearing Batch
98	Yeole Tanvi Pravin	1st Year	**	**	**	Exam Appearing Batch
99	Zori Maheshwari Narayan	1st Year	**	**	**	Exam Appearing Batch
100	Zunjakar Shraddha Sunil	1st Year	**	**	**	Exam Appearing Batch
1	Attar Ubed	3rd Year	25	24	1	96.00
2	Bandal Shubhangi	3rd Year	25	23	2	92.00
3	Baravkar Dnyaneshwari	3rd Year	25	23	2	92.00
4	Bargaje Nikhil	3rd Year	25	22	3	88.00
5	Bhendekar Ajay	3rd Year	25	25	0	100.00
6	Bhosale Sneha	3rd Year	25	20	5	80.00
7	Chame Vaibhav	3rd Year	25	23	2	92.00
8	Chavan Bhavana	3rd Year	25	22	3	88.00
9	Chemate Ashutosh	3rd Year	25	21	4	84.00
10	Choure Amarja	3rd Year	25	23	2	92.00
11	Darade Prafulkumar	3rd Year	25	24	1	96.00
12	Deshmukh Rutuja	3rd Year	25	24	1	96.00
13	Deshmukh Saima	3rd Year	25	23	2	92.00
14	Devkate Kanchan	3rd Year	25	23	2	92.00
15	Devkate Shubham	3rd Year	25	22	3	88.00
16	Dhake Sakshi	3rd Year	25	25	0	100.00
17	Dhapate Bhakti	3rd Year	25	20	5	80.00
18	Dharkar Prakash	3rd Year	25	22	3	88.00
19	Dudhe Chetan	3rd Year	25	21	4	84.00
20	Gadekar Siddharth	3rd Year	25	23	2	92.00
21	Gaikwad Anshuman	3rd Year	25	24	1	96.00
22	Gaikwad Manisha	3rd Year	25	24	1	96.00
23	Gaikwad Rahul	3rd Year	25	23	2	92.00
24	Ghatal Anuja	3rd Year	25	23	2	92.00
25	Gore Priti	3rd Year	25	22	3	88.00
26	Gund Kajal	3rd Year	25	25	0	100.00
27	Inamdar Saheel	3rd Year	25	20	5	80.00

28	Jadhav Ajinkya	3rd Year	25	23	2	92.00
29	Jadhav Dhanashri	3rd Year	25	22	3	88.00
30	Jadhav Gayatri	3rd Year	25	21	4	84.00
31	Jaiswal Karan	3rd Year	25	23	2	92.00
32	Kadam Sharyu	3rd Year	25	24	1	96.00
33	Kalane Akash	3rd Year	25	23	2	92.00
34	Kale Ashwini	3rd Year	25	22	3	88.00
35	Kale Mayur	3rd Year	25	25	0	100.00
36	Kamble Lumesh	3rd Year	25	24	1	96.00
37	Kandangire Tejal	3rd Year	25	24	1	96.00
38	Karale Rushikesh	3rd Year	25	23	2	92.00
39	Kedar Rushikesh	3rd Year	25	23	2	92.00
40	Khadkikar Aditi	3rd Year	25	22	3	88.00
41	Khalkar Akash	3rd Year	25	22	3	88.00
42	Khandare Pratik	3rd Year	25	25	0	100.00
43	Khilari Avanti	3rd Year	25	20	5	80.00
44	Korade Siddhi	3rd Year	25	22	3	88.00
45	Kshirsagar Monika	3rd Year	25	21	4	84.00
46	Limkar Rinku	3rd Year	25	23	2	92.00
47	Lipane Rushikesh	3rd Year	25	24	1	96.00
48	Mahajan Shubham	3rd Year	25	24	1	96.00
49	Maindad Rajnandini	3rd Year	25	22	3	88.00
50	Mane Tejal	3rd Year	25	21	4	84.00
51	Maske Rushikesh	3rd Year	25	23	2	92.00
52	Mathpati Shreyas	3rd Year	25	24	1	96.00
53	Mhaske Abhinav	3rd Year	25	24	1	96.00
54	Midgule Yogita	3rd Year	25	23	2	92.00
55	Mirza Awes Baig	3rd Year	25	23	2	92.00
56	Mokal Tejas	3rd Year	25	22	3	88.00
57	Mukane Vaishnavi	3rd Year	25	25	0	100.00
58	Nagargoje Pratik	3rd Year	25	20	5	80.00
59	Nalage Sayali	3rd Year	25	23	2	92.00
60	Nalkande Piyush	3rd Year	25	22	3	88.00

61	Narawade Rutuja	3rd Year	25	21	4	84.00
62	Narhe Rutuja	3rd Year	25	23	2	92.00
63	Navale Payal	3rd Year	25	24	1	96.00
64	Pathan Batul	3rd Year	25	20	5	80.00
65	Patil Aditya	3rd Year	25	23	2	92.00
66	Patil Kalyani	3rd Year	25	22	3	88.00
67	Patil Nikita	3rd Year	25	21	4	84.00
68	Patil Samiksha	3rd Year	25	23	2	92.00
69	Patil Vaishnavi	3rd Year	25	24	1	96.00
70	Patil Vishal	3rd Year	25	23	2	92.00
71	Pawar Kaustubh	3rd Year	25	22	3	88.00
72	Pawar Sushant	3rd Year	25	25	0	100.00
73	Pole Snehal	3rd Year	25	20	5	80.00
74	Potangale Abhishek	3rd Year	25	24	1	96.00
75	Rathod Hemant	3rd Year	25	23	2	92.00
76	Raut Pankaja	3rd Year	25	23	2	92.00
77	Sabale Shubhangi	3rd Year	25	22	3	88.00
78	Sangule Neha	3rd Year	25	25	0	100.00
79	Sapate Nikita	3rd Year	25	20	5	80.00
80	Shahagadkar Shivam	3rd Year	25	20	5	80.00
81	Shaikh Saniya	3rd Year	25	23	2	92.00
82	Shelke Jaideep	3rd Year	25	22	3	88.00
83	Shelke Vaibhav	3rd Year	25	21	4	84.00
84	Shinde Pratik	3rd Year	25	23	2	92.00
85	Shinde Vaishnavi	3rd Year	25	24	1	96.00
86	Shinde Venkatesh	3rd Year	25	23	2	92.00
87	Sonawane Vishal	3rd Year	25	22	3	88.00
88	Sonwane Renuka	3rd Year	25	21	4	84.00
89	Sultane Kunal	3rd Year	25	23	2	92.00
90	Syed Sohel	3rd Year	25	24	1	96.00
91	Takle Mohit	3rd Year	25	23	2	92.00
92	Tambe Chaitrali	3rd Year	25	22	3	88.00
93	Tambe Shruti	3rd Year	25	23	2	92.00

94	Tarade Preetam	3rd Year	25	22	3	88.00
95	Tawalepatil Shivpratap	3rd Year	25	21	4	84.00
96	Tupe Mayur	3rd Year	25	23	2	92.00
97	Vasave Manasi	3rd Year	25	24	1	96.00
98	Wadge Yogita	3rd Year	25	23	2	92.00
99	Waghmare Rutuja	3rd Year	25	22	3	88.00
100	Wakale Vaishnavi	3rd Year	25	20	5	80.00
1	Bangar Manish N.	4th Year	25	21	4	84.00
2	Bhagat Mangesh R.	4th Year	25	21	4	84.00
3	Bhosale Swapnil D.	4th Year	25	23	2	92.00
4	Borude Krushna A.	4th Year	25	24	1	96.00
5	Chaudhari Dhiraj V.	4th Year	25	23	2	92.00
6	Chavan Akash S.	4th Year	25	22	3	88.00
7	Chavan Dhanashri M.	4th Year	25	21	4	84.00
8	Chintamani Shatakshi	4th Year	25	23	2	92.00
9	Dahiphale Deepak R.	4th Year	25	24	1	96.00
10	Deepake Prerana A.	4th Year	25	23	2	92.00
11	Deshpande Harsha S.	4th Year	25	22	3	88.00
12	Dhage Akshay P.	4th Year	25	23	2	92.00
13	Dhas Pranita V.	4th Year	25	22	3	88.00
14	Dhokane Supriya P.	4th Year	25	21	4	84.00
15	Dudhalkar Omkar K.	4th Year	25	23	2	92.00
16	Dumbre Sonal B.	4th Year	25	24	1	96.00
17	Gadakh Pratiksha D.	4th Year	25	23	2	92.00
18	Gadekar Aishwarya B.	4th Year	25	22	3	88.00
19	Gaikwad Bhagyashri B.	4th Year	25	20	5	80.00
20	Garad Shubham P.	4th Year	25	21	4	84.00
21	Garje Srushti S.	4th Year	25	21	4	84.00
22	Garole Akash N.	4th Year	25	23	2	92.00
23	Garole Arati T.	4th Year	25	24	1	96.00
24	Gawari Dhanashree R.	4th Year	25	23	2	92.00
25	Ghube Kunal V.	4th Year	25	22	3	88.00
26	Ghuge Ratan L.	4th Year	25	21	4	84.00

27	Hajare Pragati D.	4th Year	25	23	2	92.00
28	Jadhav Dhanashree B.	4th Year	25	24	1	96.00
29	Jadhav Sachin G.	4th Year	25	23	2	92.00
30	Jodpe Ankita S.	4th Year	25	22	3	88.00
31	Kakade Janvi S.	4th Year	25	23	2	92.00
32	Kale Aishwarya A.	4th Year	25	22	3	88.00
33	Kange Aishwarya V.	4th Year	25	21	4	84.00
34	Kasar Rangoli S.	4th Year	25	23	2	92.00
35	Kawhale Rutuja U.	4th Year	25	24	1	96.00
36	Kela Dhanashri D.	4th Year	25	23	2	92.00
37	Kendre Vaishali A.	4th Year	25	22	3	88.00
38	Kharat Rutuja R.	4th Year	25	20	5	80.00
39	Khese Swapnil V.	4th Year	25	21	4	84.00
40	Khidse Shraddha V.	4th Year	25	21	4	84.00
41	Khillare Pranjal R.	4th Year	25	23	2	92.00
42	Kolhe Gaurav R.	4th Year	25	24	1	96.00
43	Kothari Nikhil N.	4th Year	25	23	2	92.00
44	Kshirsagar Sneha V.	4th Year	25	22	3	88.00
45	Lendgule Gitanjali R.	4th Year	25	21	4	84.00
46	Mahale Amol C.	4th Year	25	23	2	92.00
47	Mandalkar Pranay S.	4th Year	25	24	1	96.00
48	Masule Sagar K.	4th Year	25	23	2	92.00
49	Misal Kalyani K.	4th Year	25	22	3	88.00
50	Mishra Shardashish R.	4th Year	25	23	2	92.00
51	Mopkar Rupali V.	4th Year	25	22	3	88.00
52	Mote Sayali R.	4th Year	25	21	4	84.00
53	Mundada Nikhil R.	4th Year	25	23	2	92.00
54	Mundhe Pratiksha B.	4th Year	25	24	1	96.00
55	Mundhe Shriram A.	4th Year	25	23	2	92.00
56	Mundhe Vaishnavi A.	4th Year	25	22	3	88.00
57	Murkute Pratiksha R.	4th Year	25	20	5	80.00
58	Pachpole Shivani S.	4th Year	25	21	4	84.00
59	Paithane Pooja P.	4th Year	25	21	4	84.00

60	Pandit Abhishek S.	4th Year	25	23	2	92.00
61	Parihar Jayashree J.	4th Year	25	24	1	96.00
62	Pathan Mohammad B.	4th Year	25	23	2	92.00
63	Patil Bhushan S.	4th Year	25	22	3	88.00
64	Patil Kanchan B.	4th Year	25	21	4	84.00
65	Patil Siddhant S.	4th Year	25	23	2	92.00
66	Pimpalgaonkar Shreya	4th Year	25	24	1	96.00
67	Raje Pranita T.	4th Year	25	23	2	92.00
68	Renegade Raghunath C.	4th Year	25	22	3	88.00
69	Salave Tejal V.	4th Year	25	23	2	92.00
70	Sangale Sadhana S.	4th Year	25	22	3	88.00
71	Shah Hiten J.	4th Year	25	21	4	84.00
72	Shaikh Sana S. M.	4th Year	25	23	2	92.00
73	Shinde Monika B.	4th Year	25	24	1	96.00
74	Shinde Shubham B.	4th Year	25	23	2	92.00
75	Talekar Nita R.	4th Year	25	22	3	88.00
76	Thorat Mayur S.	4th Year	25	20	5	80.00
77	Uplaikar Ankita M.	4th Year	25	21	4	84.00
78	Walanj Pranjal V.	4th Year	25	23	2	92.00